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Is an array sorted ? THE ] at = { I ;
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isSorted(a)

isSH(a,0,3)

isSH(a,1,3)

isSH(a,2,3)

isSH(a,3,3)

a[0]<=a[1]

a[1]<=a[2]

a[2]<=a[3]

Say a1 = {3,6,6,7}, a2 = {3,6,5,7}
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Binary search

-
←PEE-

?
00



in as

:qE*d
@btn SH C

A
s

toy,qF
s

keys
)

←

middle①so. .tt#$Ifc key
sorted Emiddle ] ) {

Modify the Bang
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Say a = {3,6,9,12,15,18,21,24,27}

search(a,18)

search(a,0,8,18)

search(a,5,8,18)

search(a,5,5,18)

search(a,7)

search(a,0,8,7)

search(a,0,3,7)

search(a,2,3,7)

search(a,2,1,7)

Say a = {3,6,9,12,15,18,21,24,27}
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Consider 3 disks A < B < C

Tower of Hanoi : Strategy
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Say disks = {A,B,C}.  
Consider towerOfHoni(disks) which calls:  
tohHelper(disks, 0, disks.length - 1, 1, 3)

Tower of Hanoi :
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